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Paper 2 Markscheme

Instructions to Examiners
Method of marking
(a)  All marking must be done using a red pen.
(b)  Marks should be noted on candidates’ scripts as in the markscheme:
* show the breakdown of individual marks using the abbreviations (M1), (42) etc.

* write down each part mark total, indicated on the markscheme (for example, /3 marks] ) — it
is suggested that this be written at the end of each part, and underlined;

* write down and circle the total for each question at the end of the question.

Abbreviations

The markscheme may make use of the following abbreviations:
M Marks awarded for Method

A Marks awarded for an Answer or for Accuracy

G Marks awarded for correct solutions, generally obtained from a Graphic Display Calculator,
irrespective of working shown

C Marks awarded for Correct statements
R Marks awarded for clear Reasoning

AG Answer Given in the question and consequently marks are not awarded

Follow Through (ft) Marks
Questions in this paper were constructed to enable a candidate to:
show, step by step, what he or she knows and is able to do;
use an answer obtained in one part of a question to obtain answers in the later parts of a question.

Thus errors made at any step of the solution can affect all working that follows. Furthermore, errors
made early in the solution can affect more steps or parts of the solution than similar errors made later.

To limit the severity of the penalty for errors made at any step of a solution, follow through (ft)
marks should be awarded. The procedures for awarding these marks require that all examiners:

(i)  penalise an error when it first occurs;

(ii) accept the incorrect answer as the appropriate value or quantity to be used in all subsequent
parts of the question;



—4- M02/520/S(2)M
(iii)) award M marks for a correct method, and A(ft) marks if the subsequent working contains no
further errors.
Follow through procedures may be applied repeatedly throughout the same problem.

The errors made by a candidate may be: arithmetical errors; errors in algebraic manipulation; errors in
geometrical representation; use of an incorrect formula; errors in conceptual understanding.

The following illustrates a use of the follow through procedure:

Markscheme Candidate’s Script Marking

$ 600 x 1.02 M1 | Amount earned = $ 600 x 1.02 J M1
=$612 Al =$602 X A0

$ (306 x 1.02) + (306 x 1.04) M1 | Amount =301 x 1.02 + 301 x 1.04 / Ml
=$630.36 Al =$ 620.06 J/ AI(ft)

Note that the candidate made an arithmetical error at line 2; the candidate used a correct method at
lines 3, 4; the candidate’s working at lines 3, 4 is correct.

However, if a question is transformed by an error into a different, much simpler question then:
(i)  fewer marks should be awarded at the discretion of the Examiner;

(i1))  marks awarded should be followed by ‘(d)’ (to indicate that these marks have been awarded at
the discretion of the Examiner);

(iii)) a brief note should be written on the script explaining how these marks have been awarded.

Using the Markscheme

(a)  This markscheme presents a particular way in which each question may be worked and how it
should be marked. Alternative methods have not always been included. Thus, if an answer is
wrong then the working must be carefully analysed in order that marks are awarded for a
different method in a manner which is consistent with the markscheme.

In this case:

(i)  a mark should be awarded followed by ‘(d)’ (to indicate that these marks have
been awarded at the discretion of the Examiner);

(i1))  a brief note should be written on the script explaining how these marks have been
awarded.

Alternative solutions are indicated by OR. Where these are accompanied by G marks, they
usually signify that the answer is acceptable from a graphic display calculator without showing
working. For example:

Mean = 7906/134 M1)
=59 (A1)

OR

Mean = 59 (G2)
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sin¢ fortanéd .
cosd
These equivalent numerical or algebraic forms may be written in brackets after the required

answer.

(b)  Unless the question specifies otherwise, accept equivalent forms. For example:

(c)  As this is an international examination, all alternative forms of notation should be accepted.

For example: 1.7, 1-7, 1,7 ; different forms of vector notation suchas & , u ,u; tan”' x for
arctan x.

Accuracy of Answers

There are two types of accuracy errors, incorrect level of accuracy, and rounding errors. Unless the
level of accuracy is specified in the question, candidates should be penalized once only IN THE
PAPER for any accuracy error (AP). This could be an incorrect level of accuracy, or a rounding
error. Hence, on the first occasion in the paper when a correct answer is given to the wrong degree of
accuracy, or rounded incorrectly, maximum marks are not awarded, but on all subsequent occasions
when accuracy errors occur, then maximum marks are awarded.

There are also situations (particularly in some of the options) where giving an answer to more
than 3 significant figures is acceptable. This will be noted in the markscheme.

(a) Level of accuracy

(i)  In the case when the accuracy of the answer is specified in the question (for example:
“find the size of angle 4 to the nearest degree”) the maximum mark is awarded only if
the correct answer is given to the accuracy required.

(i1)  When the accuracy is not specified in the question, then the general rule applies:

Unless otherwise stated in the question, all numerical answers must
be given exactly or to three significant figures.

(b) Rounding errors

Rounding errors should only be penalized at the final answer stage. This does not apply to
intermediate answers, only those asked for as part of a question. Premature rounding which
leads to incorrect answers should only be penalized at the answer stage.

Incorrect answers are wrong, and should not be considered under (a) or (b).
Examples
A question leads to the answer 4.6789....

e 4.68 is the correct 3 s.f. answer.

* 4.7,4.679 are to the wrong level of accuracy, and should be penalised the first time this type of
error occurs.

* 4,67 is incorrectly rounded — penalise on the first occurrence.

Note: All these “incorrect” answers may be assumed to come from 4.6789..., even if that value is not
seen, but previous correct working is shown. However, 4.60 is wrong, as is 4.5, 4.8, and these should
be penalised as being incorrect answers, not as examples of accuracy errors.
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Markscheme Candidate’s Script (A) Marking
(@) a=2.31x3.43 Ml (a) a=2.31x343 Ml
=7.9233=7.92 (3 s.f) Al =7.9233=7.92 Al
(b) 2a=2x7.9233 Al (b) 2a=2x%x17.29=14.58 A0
=15.8466 =15.8 (3 s.f) Al =14.5 AO(AP)
Total| 2 marks

Notes:

Award A1 for either the exact answer 7.9233 or the 3 s.f. answer 7.92.

In line 3, Candidate A has incorrectly transcribed the answer for part (a), but then
performs the calculation correctly, and would normally gain the follow through marks.
However, the final answer is incorrectly rounded, and the AP applies.

Candidate’s Script (B) Marking Candidate’s Script (C) Marking
(a) a=2.31x3.43=7.9233 Ml (a) a=2.31x3.43=7.9233 Ml
=7.92 Al =17.93 AO(AP)
(b) 2a=2x7.9233 Al (b) 2a=2x%x793 AI(ft)
=15.8466 = 15.85 AO(AP) =15.86 =15.8 AI(ft)
Total| 3 marks Total | 3 marks

Notes:

Candidate B has given the answer to part (b) to the wrong level of accuracy, AP applies.

Candidate C has incorrectly rounded the answers to both parts (a) and (b), is penalised
(AP) on the first occurrence (line 2), and awarded follow through marks for part (b).

Candidate’s Script (D) Marking Candidate’s Script (E) Marking
(a) a=2.31x3.43 M1 (a) a=2.31x3.43=7.923 M1
=7923=179 AO(AP) =7.93 AO0(AP)
(b) 2a=2x7.923 AI(ft) (b) 2a=2x7.93 AI(ft)
=19.446=19.5 A0 =15.86 AI(ft)
Total | 2 marks Total | 3 marks

Notes:

loses 1 mark (AP). The answer to part (b) is wrong.

Candidate D has given the answer to part (a) to the wrong level of accuracy, and therefore

Candidate E has incorrectly rounded the answer to part (a), therefore loses 1 mark
(AP), is awarded follow through marks for part (b), and does not lose a mark for the
wrong level of accuracy.

Graphic Display Calculators

Many candidates will be obtaining solutions directly from their calculators, often without showing
any working. They have been advised that they must use mathematical notation, not calculator
commands when explaining what they are doing. Incorrect answers without working will receive no
marks. However, if there is written evidence of using a graphic display calculator correctly, method
marks may be awarded. Where possible, examples will be provided to guide examiners in awarding

these method marks.
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6 2
sinA sin45°
22

SINA =6x—x
72

(a)

7

(b)

(i)  BDC+BAC=180’

.. . 6
(i) sinA= 7
= A=59.0° or 121" (3s.f)
= BCD =180 —(121° + 45°)
=14.0° (3 s.f))

72
BD  »
sinl4® sin45°
= BD=1.69

(iii)

1
Area ABDC 5 *BP*/

Area ABAC %XBAxh

(©)

_BD
BA

OR
L BDx6sinds
Area ABDC o= ° %P8

Area ABAC %BA x 6sin45

_BD
BA
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(M1)

(AD)

(4G)

[2 marks]

(AD)

(AD)(AD)

(AD)

(M1)

(41)
[6 marks]

M1)(A1)

(AG)

(MI)(A1)

(AG)

[2 marks]
Total [10 marks]



(a)

(b)

(c)

Ashley

AP 12+14+16+... to 15 terms

S, =175[2(12)+14(2)]

=15%x26
=390 hours

Billie

GP 12,12(1.1),12(1.1)*...

(i) Inweek3,12(1.1)°

=14.52 hours

i) .=
(@) " 1.1-1

=381 hours (3 s.f)

1211y > 50
50

L)' >=—
1.1 D

50
n—DInl.1>lnh—
(n=1) B

In1.1
n—-1>14.97

n>1597
= Week 16

OR

12(1.1)"" > 50

By trial and error

12(1.1)"* =45.6,12(1.1)"° =50.1
=>n-1=15

=n=16 (Week 16)

B 12[ (1.1 —1]

M02/520/S(2)M

(MI)
(MI)

(41)
[3 marks]

(M1)

(AD)
(4G)

M1)
(41)
[4 marks]
M1)

(AD)

(AD)

(AD)

(M)

(A1)
(AD)
(AD)

[4 marks]
Total [11 marks]



YA U

<V

V(-4,6)

9
(b)  Equation of (UV) : direction is = [9} (or k[

i) o (L)

OR

M02/520/S(2)M

(M1)

(A1)

(M1I)

(AD)

(A1)
[5 marks]

(A1)

(A1)

(AD)

[2 marks]

continued...
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Question 3 continued

M02/520/S(2)M

1
(©) (1 J is on the line because it gives the same value of A for both the x and y

coordinates.

For example, 1=5+94 A= _g

11=15+94 ﬂz—g

IEW|= 213 = \J(a—1)> +36 =213 (or (a—1)* +36=52)

a’—2a+1+36=52
a’-2a-15=0
a=5or a=-3

(il)) For a=-3

- -4 - 6
EW = ET=t-e=
(o) el

EW-ET
IEW/|[ET|
24-24
NGB

12
13
Therefore, WET =157° (3 s.f)

cos WET =

(RI)

(A1)

[2 marks]

(M1)

(AD)

(M1)

(AD)
(AD(AG)

(A1)(Al)

(M)

(A1)

(AD)

[10 marks]
Total [19 marks]



(@)

(b)

(©)
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(i)  median fare =$ 24 (£0.5)

(i) fare <$35= number of cabs is 154 (or 153)

40 % of cabs =80 cabs

fares up to $ 22
distance =$22+$0.55
a =40 km

Distance 90 km = fare =90x$ 0.55
=$49.50
Fare $ 49.50 = number of cabs =200 —-186
=14

.14
Thus percentage is —=7 %
200

M02/520/S(2)M

(AD)

(41)
[2 marks]
(41)
(41)
M1)
(41)
[4 marks]

(A1)
(MI)
(A1)

(AD)

[4 marks]

continued...
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Question 4 continued

(i)  Sample space ={(1,1),(1,2)...(6,5), (6, 6)}

M02/520/S(2)M

(This may be indicated in other ways, for example, a grid or a tree diagram, partly or

fully completed)
1
2
1 :
1
2
2%3
3
4
5
6
(@) P(S<g)=f>tdr3t2el
36
_7
12
OR
7
P(S<8)=—
( ) 12
(b) P(atleastone3):1+1+6+1+1+1
36
1
36
OR
11
P (at least one 3) = —
36

P(at least one 3N S <8)

(c)  P(atleast one 3|S <8)=

P(S <8)

(M1)

(A1)

(42)

(MI)

(AD)

(42)

(M1)

(AD)

(A1)
[7 marks]
Total [17 marks]



(b)

(c)

—13 -

k
Lo &
=——(e" -1
(e -1)
1 —k
:;(1—6 )
k=0.5
(1) A
Yy
0,1
» /( )
SIURETE TR
Note: Award (41) for shape, and (A1) for the point (0,1)
(il))  Shading (see graph)
(iii) Area = [ e™dx for k=0.5
1
=—(1-¢"
0.5( )
=0.787 (3 s.f)
OR
Area =0.787 (3 s.f)
. dy —kx
—=—ke
) =
(i) x=1 y=08 =08=¢™"
In0.8=-%
k=0.223
dy -0.223
(i) At x=1 —=-0.223¢
dx

=-0.179 (accept —0.178)
OR

Y 0178 0r—0.179
dx

M02/520/S(2)M

(A1)
(AD)
(AD)

(4G)

[3 marks]

(42)

(A1)

(M1)

(A1)

(G2)
[5 marks]

(AD)

(AD)

(AD)

(MI)
(A1)

(G2)

[5 marks]
Total [13 marks]



(i)

(b)

(c)

(a)

(b)
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(These answers may be obtained from a calculator or by finding z in each case
and the corresponding area.)
M ~N(750, 625)

(i) PWM<740g)=0.345 (G2)
OR
z=-04 P(z<-0.4)=0.345 (A1)(Al)
(i) PWM>780g)=0.115 (G2)
OR
z=12 P(z>12)=1-0.885=0.115 (A1)(A1)
(iii) P(740<M <780)=0.540 (G1)
OR
1-(0.345+0.115)=0.540 (Al)
[5 marks]
Independent events
Therefore, P(both < 740) = 0.345 M1)
=0.119 (A1)
[2 marks]
70 % have mass < 763 g (G1)
Therefore, 70 % have mass of at least 750 — 13
x=737¢g (Al)
[2 marks]
. 70
1 =——x31
W e 240
=9.04 (Al)
Then, similarly or by subtraction
b=28.0 c¢c=142 d=44.0 (43)
(i) ge.=8.12 (G3)
OR
2> =[0.120+1.363+1.286+0.023+0.341+1.042 +1.485+0.028 +2.434] (M1)(Al)
=8.12 (A1)
[7 marks]

H, : success is independent of school attended

H, : success depends on the school

o) =7779  z3,,(4)=9.488 (AD)(A1)
Since 8.12 > 7.779 we reject H,, at the 10 % level (Cl)
Since 8.12 < 9.488 we accept H, at the 5 % level (Cl)

[4 marks]

continued...



Question 6 continued

(i) (a) ()

(i)

(iii)

—15—

26.1

" 17%231
—0.966

26.1
—1000 = -200
Y 2.31 (= )

=4.89(x —200)
y=4.89x+22

OR
y=4.89x+22

When x=170°
y=4.89(170)+ 22
=853

(b) Diagram C

It has positive gradient and r is close to 1

OR

It has positive gradient, and points are close together

M02/520/S(2)M

(MI)
(AD)

(G2)

(M1)

(A1)
(A1)

(G3)

(MI)(A1)
(A1)

[8 marks]

(AD)
(RI)

(R1)
[2 marks]
Total [30 marks]
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i) (a) j sin® xdx

Let u =cosx, du =—sinxdx, sin x =1—u" M1)
Then [sin’ xdx =—[(1-u")du (M1)
u3
=——u+c
3
cos’ x
= 3 —cosx+c (Al)
[3 marks]
m2 o5
(b) Area = jo sin® xdx M1)

-2 1
3

[2 marks]
(i) (a) (1) Vertical asymptote x=-1 (A1)
(il)) Horizontal asymptote y =0 (Al)

(iii)
(A1)(A1)

Note: Award (A1) for each branch.

[4 marks]

continued...
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Question 7 (ii) continued

. —6x°
b i "X)=————
® O [ I10)
v 1+ (-12x) + 657 (2)(1+x°) (3x)
S'(x) 1+ ) M)
_ (1+x7)(-12x) +36x"
(1+x3)3 (AI)
_ —12x-12x" +36x* ”
(1+x°) (4D
_ 12x(2x° - 1) 4G
(1+x) (AG)
(i)  Point of inflexion = f"(x)=0 M1)
=>x=0or x= i/I
2
x=0 or x=0.794 (3s.f) (A1)(A1)
OR
x=0,x=0.794 (G1)(G2)
[6 marks]
. . 3 b—a 2
(¢) (1) Approximate value of .[1 f(x)dx, h= =3 (A1)
n
= %[1 +1.068377 +...+0.215332+0.071429] (Al)
= %(3.284025)
=0.656805 (A1)
(i) f £ (x)dx = 0.637599
3
\_
¥
1 ' (A1)
h
{1
1 v 1, 2 3
-4
Between 1 and 3, the graph is ‘concave up’, so that the straight lines RI)
forming the trapezia are all above the graph.
[5 marks]

continued...



Question 7 continued
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(i) (@) A(x)=Iln2x- sin%x

(@)

(b)y @

(i)

h(0.5)=1In1-5sin0.25=-0.247 <0 (A1)
h(1)=In2-5in0.5=0.214>0 (A1)
Change of sign = root in this interval (R1)
[3 marks]
g (x) _ lesingx
1 sin—x,
'xn+] Ee > xO = 1
(a) x, =0.807573[1482] (Gl)
x, =0.740637[5034] (Gl
(b) 6 significant figures, root =0.706747 (G2)
'(x)= (lcosli esm%x (A1)
g 4 2

= gradient of the function g at any point.

The graph of g'(x) is periodic, with range approximately —0.4 to 0.4. (R1)

Hence the gradient of g is always numerically <1 and consequently the

iteration will always converge. (R1)
[7 marks]

Total [30 marks]
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R - cos45’ —sin45’
sin45°  cos45°

L ( ivalent)
=— orequlvaen
NIUE

cos60° —sin60°
sin60°  cos60°

11 =3 ( rvalent)
=— or equivalen
2(3 1

Note:

Award (A2) for correct answers.

®» @
(b)
(i)  (a)
(b)

(i)  RR, isarotation of 105" about origin.

i) = cos105° —sinl05° 1 (1 =1y 1
il -
sinl05°  cos105° 2211 1 NE)
1 (143 -1-43
1+43 1-43

22

:>cos,105°=ﬂ
22
1 3
P=
1 -1 1 3Y)1 -1 7 2
Image P = =
(2 1] [6 4](2 1] [14 —2]

1,2)—>(7,14)
1,1 —>(2,-2)

7 2
Note: The (41)(A1) may be awarded for [14 2].

(c)

(d)

The origin is invariant.
(19 2) - (7a 14): (1: 1) - (2a _2)

Note: Award (M1) for either set of points.

Equations of the invariant lines are y =2x, y =—x.

Area scale factor = | det (P)|
=14

M02/520/S(2)M

(MI)

(AD)

(M1)

(AD)

[4 marks]

(AD)(AD)

(MI)

(42)

(4G)
[5 marks]

(AD)

[1 mark]

(M)

(AD)
(A1)

[3 marks]

(M)
(MI)

(A1)(A1)
[4 marks]

M1I)

(AD)

[2 marks]
continued...



~20- M02/520/S(2)M

Question 8 continued

o (O)_(8
(i) @ O 7| (A1)
.. 8 1(-15 8} 8 8
LI P W &
_ 0
[0 (D)

2Y) 1(-15 8)( 2 8
o a2 S
2
=(_9j (Al)

[5 marks]
(b) YA
/
(0,0) X
(8,-2)
(42)
(2a _9)
(c) From the diagram we that / is the mediator of the line segment joining (0, 0)
and (8, -2). M1)
Therefore, / has gradient 4 and passes through (2,-9). (A1)
Equation y+9=4(x-2) (Al)
y=4x-17
4x-y-17=0 (A1)
[6 marks]

Total [30 marks]




